HW3.

Governing equation:
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Exact solution:
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where Pe = puL/T",Pe, = puA/T.
1. # of grid pts, N=11 including boundary points (uniform grids).
1-1.  Convection term for UDS
1-2.  Convection term for CDS
2. # of grid pts, N=41 including boundary points (uniform grids).
1-1.  Convection term for UDS
1-2. Convection term for CDS
3. Non-uniform grids with N=11 (Ax, =reAx, ,,r, =0.75)
1-1.  Convection term for UDS

1-2. Convection term for CDS

The condition for the numerical simulations:

L=1p=Lu=1T=0.02

¢0=0,¢L=1,Pe='0TUL=50

Plot the 10gAX Vs. loge graph for & = MaX‘(ZilexaCt —¢I‘ and discuss the results.





